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SECITIUN-A
CALCULATION

SECITION-Db
REASONING

10.

63% of 735 — 2% of 398 = 295.89 11.
(A) 42 (B) 44

(C) 46 (D) 48

1152 + 36 +(9)3 = ?

(A) 749 (B) 7231

(C) 738 (D) 761

69.2x 184 x 45=?

(A) 5729.76 (B) 5972.76

(C) 5279.76 (D) 5792.76

[(11)° x (6)7] + (4)*="?

(A) 2994.75 (B) 748.6875 12
(C) 272.25 (D) 4492.125

748 x 362 = (520)% + (?)

(A) 382 (B) 374

(C) 365 (D) 376

3525 + 25— 8640 + 144 = ?

(A) 81 (B) 91

(C) 102 (D) 60

676.66 x 0.76 + 06.66 — 76.76 = ? 13,
(A) 444.1616 (B) 444.1515

(C) 444.1414 (D) 444.1313

38% of 818 — 2% of 636 = 158.2

(A) 12 (B) 24

(C) 36 (D) 48

13.8 x 16.7 x 21.4 — 2931.844 = ? 14,
(A) 1800 (B) 1900

(C) 2000 (D) 2100

13498 + 8932 — 1159 = ? x 89

(A) 231 (B) 233

(C) 237 (D) 239

Paul takes the underground train to work and uses an
escalator at therailway station. If Paul runsup 7 steps
of the escalator, then it takes him 43.5 seconds to
reach the top of the escalator. If he runs up 14 steps
of the escal ator, then it takes him only 33.0 secondsto
reach the top.

How many seconds would it take Paul to reach the
top if he did not run up any steps of the escalator at
al?

(A) >4 (B) 56

(C) 57 (D)60

If you Arrange these scrambl ed | ettersto make simple
English words —linges, hnuo, mader, troac, dlitlt, centis,
pick the FIRST letters from the above words, then
which word will be formed after unscrambling those
first letters?

(A) ground (B)island
(C) louder (D) stound

Grandpa: “My grandson is about as many days as my
son isweeks, and my grandson isas many months as
| amin years. My grandson, my son and | together
are 100 years. Can you tell me my age in years?”

(A) 50 (B) 60

(©)65 (D)70

Find the logically consistent pair of sentences on
the basis of the given information

If Anita and Sheila are not dancing, Anjali cannot
dance.

A. Anitaand Sheilaare dancing.

B. Anjali cannot dance.

C. Anitaand Sheilaare not dancing.
D. Anjaliisdancing.
(A) DA

(C) DB

(B) BA
(D) BD




1o.

16.

Fact 1. Pictures can tell astory.
Fact 2: All storybooks have pictures.
Fact 3: Some storybooks have words.

If the first three statements are facts, which of the
following statements must also be afact?

I:  Pictures can tell a story better than words can.
II:  Thestoriesin storybooks are very simple.

I1l: Some storybooks have both words and pictures.

(A) I only (B) Il only
(C) 1 only

(D) None of the statements is known fact
Which letter replaces the question mark?

E B D

3 4|3

A H B C

B E A G

7|5 6|1]|2

c | c ?
(A) E (B)F
©1 (D) P

Directions : (Q17-18)The triangle stands for sportsmen.

The circle stands for cricketers. The rectangle
stands for boys. The square stands for non-urban.
Study the diagram carefully and answer each
question.

N

1/,

18.

1 e abouve ulagram WIicCrH orice Or uie rouowmg
statementsis true?

(A) All non urban persons are sportsmen

(B) There are boys who are sportsmen and do not
play cricket

(C) All urban boysare not sportsmen

(D) All urban boysplay cricket

In the above diagram which one of the following
statements is true?

(A) There are some non urban non boys who are
sportsmen but not cricketers.

(B) Therearesome urban boyswho are not cricketers
but who are sportsmen.

(C) There are non - cricketer sportsmen among the
non urban boys.

(D) Therearesome urban boyswho are not cricketers

Directions : (Q. 19-20) : Each of the problem below

19.

20.

consists of a question and three statements, 1, 11
and 111 given below it. Read all the statements
carefully and seek all possible combinationswhich
could be sufficient for answering the question. A
single statement or statements with least
combinations which could be sufficient for
answering the question would be your answer.

In which year was Tarun born?
I. Tarun is six years older than Rabin.
I1. Rabin’s brother was born in 1982.

I11. Tarun’s brother is two years younger than Rabin’s
borther who was eight years younger than him.

(A) I and lI1 only (B) I'and 111 only

(O Al 1T and I (D) I'and Il only

Who among P, Q, R, Sand T isin the middle while
standinginaline?

I. Qistotheright of T.

1. Sisbetween Pand T.
I1l. Qisbetween T and R.
(A) I'and Il only

(C) I'and 111 only

(B) I1'and 111 only
(D) Al I,




SECITIUN-C
SCHOLASTICAPTITUDE

21.

22.

23.

24,

25.

If a body is moving at constant speed in a circular
path, its—
(A) veocity isconstant and its acceleration is zero

(B) velocity and acceleration are both changing
directiononly

(C) velocity and acceleration are both increasing

(D) veocity isconstant and accel eration is changing
direction

If avelocity of 3 metersper second isadded to another

of 5 meters per second, the sum is —

(A) 2 meters per second

(B) 4 meters per second

(C) anything over 3 meters per second

(D) between 2 meters per second and 8 meters per
second

You are on an ocean liner that is going eastward at
12.0 meters per second, and you run southward at 3.6
meters per second. The magnitude and direction of
your resulting velocity.

(A) 15.6 m/s, E/W (B) 18.4 m/s, W/E
(C) 12.5m/s, SIE (D) 13.5m/s, SIE

A frictionlesswagon is pushed, fromrest, with aforce
of 60 newtonsfor 14 seconds. If it then strikesawall
and comesto rest in 0.15 second, how much average
force doesthe wall exert on it ?

(A) 6000 N (B) 5600 N
(C) 4500 N (D) 4000 N

A 35kggirl onroller skates, standing still, throws a6
kg medicine ball forward at 3.5 meters per second.
How muchis her recoil velocity (the backward speed
she acquires as a result of the throw)-

(A) - 0.6 m/s (B) - 1.6 m/s
(C)-2.6 m/s (D) = 5.6 m/s

27.

28.

29.

30.

vwnicn or tne rolowing 1s tne eviaence to snow that

there must be a force acting on earth and directed

towards the sun—

(A) Deviation of the falling bodiestowards east

(B) Revolution of the earth round the sun

(C) Phenomenon of day and night

(D) Apparent motion of sun round the earth

Which one of thefollowing setsof phenomenawould

increase on raising the temperature?

(A) Diffusion, evaporation, compression of gases

(B) Evaporation, compression of gases, solubility

(C) Evaporation, diffusion, expansion of gases

(D) Evaporation, soluhility, diffusion, compression of
gases

Seema visited a Natural Gas Compressing Unit and

found that the gas can be liquefied under specific

conditions of temperature and pressure. While sharing

her experience with friends she got confused. Help
her to identify the correct set of conditions

(A) Low temperature, low pressure

(B) High temperature, low pressure

(C) Low temperature, high pressure

(D) High temperature, high pressure

The property to flow isuniqueto fluids. Which one of
the following statementsis correct?

(A) Only gases behavelike fluids

(B) Gases and solids behave likefluids

(C) Gasesand liquids behave likefluids

(D) Only liquidsarefluids

Which of the following statements are true for pure
substances?

(i) Pure substances contain only one kind of par-
ticles

(i) Puresubstances may be compounds or mixtures

(i) Pure substances have the same composition
throughout

(iv) Pure substances can be exemplified by all ele-
ments other than nickel




31.

32.

33.

34.

35.

36.

37.

")) alultl) \B)\l)aluilill)

(C) (iii) and (iv) (D) (i) and (iii)

Rusting of an article made up of ironiscalled

(A) corrosionand it isaphysical aswell aschemical
change

(B) dissolution and it isaphysical change

(C) corrosionanditisachemical change

(D) dissolutionanditisachemical change

A mixture of sulphur and carbon disulphideis

(A) heterogeneous and shows Tyndall effect

(B) homogeneous and shows Tyndall effect

(C) heterogeneous and does not show Tyndall effect

(D) homogeneous and does not show Tyndall effect

Which of thefollowing can be madeinto crystal?

(A) A Bacterium (B) An Amoeba

(C) A Virus (D) A Sperm

A cell will swell upif

(A) Theconcentration of water moleculesinthe cell
is higher than the concentration of water mol-
eculesin surrounding medium

(B) Theconcentration of water moleculesin surround-
ing medium is higher than water molecul es con-
centration in the cell

(C) Theconcentration of water moleculesissamein
the cell and in the surrounding medium

(D) Concentration of water molecul es does not mat-
ter

Chromosomes are made up of

(A) DNA (B) protein

(C) DNA and protein (D) RNA

Which of thefollowing tissues has dead cells?

(A) Parenchyma (B) Sclerenchyma

(C) Collenchyma (D) Epithelial tissue

Find out incorrect sentence

(A) Parenchymatoustissues haveintercellular spaces

(B) Coallenchymatoustissuesareirregularly thickened
at corners

(C) Apical andintercalary meristems are permanent
tissues

(D) Meristematictissues, initsearly stage, lack vacu-
oles

39.

40.

41.

42.

Gidl OF SLC Tl €ascs Uuc O

(A) apical meristem (B) lateral meristem

(C) intercalary meristem (D) vertical meristem
Acircleisdividedintofour regionsby radii. Angle A

2
is 3 the angle C while angle D is twice angle B.

Angles B and C are supplementary. AngleC is

B
l\ 'E}?DH“H)
\\\4{_ ////
(A) 100° (B) 110°
(C) 120° (D) 135°

ABCD isaparallelogram. BP = DP = BC. The size
of xis

l:) 2x 7P 75
/ e e \}\ ;{f
i h
i ¥
(A) 52° (B) 54°
(C) 56° (D) 58°

How many zeros are there in the result of
5675% — 43252 ?

(A) 2 (B)3
©4 (D)5
Pisapoint on side AB of the right-angled triangle

ABC. The distances of P from the vertices of the
triangle are as shown. Thelength of BC is

C
\\\ \x\‘-"\-,__“_\
Xp e
e,
e
\\ “‘*—-._‘_
A 5 P 28 B
(A) 42 (B) 41
(C) 40 (D) 39




49o.

44,

45,

WO SEicirclesace piaced irtarectarigie or 1efngtn A.
The shortest distance between the semicircles is a.
Thetotal area of the semicircles (shaded) is

A

A+a) a)
ool @(+3)

) A-a)
(©) p(A-a) (D) D(T]

Five identical rectangles are placed to form a new
rectangle. The width of the new rectangle is 15 cm.
The area of the big rectangle (in cn?) is

15 cm
(A) 270 (B) 300
(C) 330 (D) 360

Thethreedigit number 7d2isdivisibleby 3and by 11.
Thedigit d must be

(A) 1 (B) 2
©) 6 (D) 9




ANSWERKEY

SECTION-A CALCULATION
. A 22 ® 3 @A 4 ® 5 O 6 (A 7. (A
8. ® 9 () 10. (D)
SECTION-B REASONING
1. A 120 B8 13 ® 14 (A 15 (0 16 (B) 17. (D)
18. (A) 19. (©) 20. (B)
SECTION-C SCHOLASTICAPTITUDE

2. B 220 O 23. (C) 24 (B 25 (A 26 (B) 27. (O
28. () 29. (C) 30. (® 31 (C 32 (O 33 (0 34 (B
3% (C) 3 (@® 37 () 38 (B 39 (O 40. (B 4. (D)
42. (D) 43 (D) 44 (A) 45 (D)




